4.60

Wegmaaien en afvoeren rietkraag

Fietspad

Fietspad

Wegmaaien en afvoeren rietkraag

A3

73

D

\ 2.25-

7.3

4.50

4.00

Dwarsprofiel DP-6

Schaal 1:100

Dwarsprofiel DP-1

Schaal 1:100

0980~ |-000°SL
2980~ |6t L
6680~ |ZvlZ
HOELL- SS9
Halgl- 2ls0
HtoLz- 0000
92~ €860
F999°7- 651"
-5097-  |yseT-
Hz6l- 626
S e TR
FoESl- 6084
H60%1-  |OLE6-
9880~ |OLZ'IL-
0790~ 651zl
2790~ |8€9°TL-
550 |-698°€L-
RN L R [ T
Sla
950" [000°SL-
o
(o] cC
-+ V)
(w)) “+—
o )]
o Y—
T <
[a W
<
=
>
©
-+
e
o
o
<
N
|
CHY0-  FIR8S
HGE90-  HL6E™L
H€€9°0-  HEYEL
H2€90- €982
L1590~ T
HEEL0- 0601
Fasll- zi06
A ST
HE9l- 059
651~ |0z8'T
A TN S
F<90Z- 0000
FZslz- 0450
HoL'Z- M6z
A A SN
o1z esy-
FzoLz- 69s-
H6LLZ-  H£0Z9-
FeLtl- 850t
HzEll- €966
H£001-  |098°0L-
HE76'0- 8T UL
H6t0-  |HEzHTL-
.
Sla
SW&%.O- 0001~
=
(d]] cC
-+ 1v]
(wn )] -
o 7))
(@) Y
I <C

-5.000m t.o.v. NAP

5.17

©
<
\
\
o
o LN
mn 1 ~
o ﬂﬁ mw
£ Qo
=<
7]
=
c
a
—
a
o J S
>
e
mn
1
5 =
c | o
R m
mn -~
n
=
(w)]
a
=
7
|
pw)
m
(%]
o
R,
(N
—l.l
|
[a
[mm)]
f
Y
o
—
o
n
—
o
=
[mm)]
O
m
(7]
o
R
[N
f
(o))
=N
(Vo]
(=)}
m
m___
-
X
—-—
()
=
— c
(3]
T
o 38}
> <
&
m
c
()
c
KT
= _
m , )
wn
A &
[J]
= ]
(V=
/ A
o
I
j
I
f
I
| x
/]
m
-~
A
~
|
[a W
[mm)]
a
Y
o
—
o
n
[ .
I
=
[mm)]

Schaal 1:100

Schaal 1:100

H£821-  H000'SL
H69€ - 08l
Hioll-  0EEL
H£580-  |GEE6
H180-  |est8
Hceg0-  |Ssz8
F9£60-  |6St'E
FesLl- e
FS68l- 0zl
HSlz- HeLEL
H66€2- 090
H0z9°z- 0000
H0£G'Z- 19880
FSv9l-  289l-
F8L9L-  a8yz-
HE0yl-  HoLS-
H08Z1-  |-S658-
F9€L0- 999701
FZLe0-  FooLLL-
H8€9°0-  2SSTL-
6090~ 8£°€L-
. [eS0m  [sez-
Sls
NISlcts0- 0005k
O
(o] cC
-+ )
(=)} -+~
o 0
(@] Yy
o <
[a
<C
=
>
©
-+
e
o
o
<
LN
|
8250 |000°SL
H0L7°0- 26t
H864°0- Y6l
8250~ €871l
9750~ 2090l
HE950-  HESEE
H2650- 9768
HE99°0- 6918
5901 vzE9
HSlrl- oY
Ho084l-  |E€0°E
H0g6L- LYo
HEZZ- 0000
827 926°0-
A = TR
H6t22- 0957
oLz ovoe-
Hestl- oLsE-
L YA R SR A
8401~ £4L9-
HL60- 89"
F9E£ 0~ |HEILS-
F96£°0-  H6L9LL-
1
Slu—
Sla
SWLS_O- H000'SL-
)
o] c
-+ I1v)
(w)} —
o "
o Y
- <

-5.000m t.0.v. NAP

Wegmaaien en afvoeren rietkraag

417

Fietspad

5.63

Wegmaaien en afvoeren rietkraag

Fietspad

4.50

1.70-

73

o
&

Dwarsprofiel DP-8

Schaal 1:100

Dwarsprofiel DP-3

Schaal 1:100

L6e0l-  [000'sL
Leovl- Feloml
1090~ |eggel
Hz0l- lZoEl
L9180~ |eveg
Lcz60- 590y
L1901 e
Lolel- folel
Lv9zz- Fowno
Lozvz- 0000
16092-  [0050-
Lvzsz- F8ovl-
Lgvgl-  [9iglL-
Lezgl-  [9see-
A =T
Lel- FegooL-
Leeo- Frtel-
L6£90-  Fueval-
18290~ |egszL-
18290-  [€009L-
B £ N TR R T
Sla
6090~ |000°SL-
o
w cC
-— o
(w)] -+
o n
o Y
T <t
(a1l
<
=
>
©
-+
(=
o
o
<
LN
|
L6050~ [000°SL
Letvo-  Fzuem
9640~ [EE8'€L
Lovs0- 89l
Levg0-  F9esol
Lgt50-  Feoeol
6190~ [ZE0'6
L1901 Fteot
Logll-  Feseg
Hest-  Felne
Lggsl-  Feogl
Lezzz- s
Logvz- 0000
Lzszz- Fozet-
Lazz- Feott-
Loozz-  Fwzsz-
-89~ [990°€-
071~ [6ESY-
Lesol-  Fwzes-
L1860~ |its-
Lost'0-  [2869-
L1280~ [625%6-
]
Slu-
Sla
5Wu£mo- 00051~
o
@ cC
—-— o
(ws ] -+
o n
(@) Y—
T <C

-5.000m f.o.v. NAP

Wegmaaien en afvoeren rietkraag

2,74

bbb

9180~ 00075k
L2860~ |29z
9501~ 0072
\
H0ze'l- 0090
< Lonlz- 0000
| H0v9z-  ozbL-
; 2697~ 6£0Z-
A
wﬁ SAUNSE A FRA
o
tn
kz\ =
mﬁ
2
b
m
-~
\
Hizzl- FUze-
H6EL0-  HOZEIL-
8290~ 065ZL-
16090~ |S6£EL-
o
m
i 3|
: 40 L
i L4190~ 00051~
o
T c
- o
(=)} -—
o v
(@] Y
T <C
(@) (a
] <t
o =
D -
e >
Yo o
B2+
L. v
Dl m
n o 2
. g 2
n ~ <
2 U W
owm [
L9gw'0- 00075
Lign0- 9L
pw)
m
(%]
o
B
i Leen0- ST
, H6050-  iSLL
8250~ 060l
€090~ €056
1080~ |-£998
(w)]
mn
a . .
o L9gel-  |68L'9
e
()
2 @
c <
a
—
(1)
o
>
e
n
cC —_
a
c \ Lzosl- 99z
B
M 1
[¥g)
&W| ﬁﬁ _, F9651-  |9EET
= zﬁ =
T H88L'z- LSl
J
\\
R\\ Losyz- o840
\ Liez- Foooo
Ve
\ Hiez- Fz9go-
Len0z- HLSL-
m
-~
VA R S
LoeLl-  |-8s9E-
Lelo- ezey-
g6£0-  |€€0'9-
Lz€80-  |-S876-
]
Olu—
Sla
SWL@E- H000'SL-
o
a c
-+ o
o —
o 1%
(@] Y
T <C
< [a
! <
o =
D -
— >
Yo o
v e+
L.
Dl m
n o 2
C @ o
n ~ <
20 W
owm [

Dwarsprofiel DP-5

Schaal 1:100

-5.000m f.o.v. NAP

411 08G£Z000W  :PI20Q
5, @
& 2 M
@ [J]
&5 <>
-+ —~E
T EN
i |3 +— <
23 -
o
v v — c
2| |z < g i
> > = (N
I = - a
—-— —-— — m (W)
m m c — C
= = 2 P o
© IS} . wn U
() () w
a
. . - (@) -
0 S >
o o S m
@ o c— m > ()
i u c ()
Z Z m ~ S = M
o o << o
o () . ..
o <3
y -
[ — -— R |
2 2 (@) g E
= o N — o = o
[ o [ ....m .m —I
B2 o - 5 m oo [
[1] = [aalNaa]
o E A o (¢F) I — Ll
< & w — = (] ()
= c 3 wn o !
F S =) a
[ X o [ c o
E [ 5 g I — @
- S s o | 12l @ c L
2 £, = g 2 gl |2 S w | = sl oo I
o = o id © | | S|l = un o
-+ E > o — - - a (m N c
n - = n 5 5 [ ~ 5 U (e
(1] o 1] [ (] ] G} g u“ e S n —f— a _
m = — o foa) I R -+ n *E (V) = ol
< m n CcC ~NL*C o
S S ) [ - _ - m S a W (o) = =
.. ! .. ! S u m M~ = ,
ol a2 fg0) Q e . [
c 1 c | e e o [ - _
Y B DA — + — ) Co 32
Elel5| sl © o | = o S clEx
o ElE|8|gl] = o - o5 e S EPe
3 H“ o = | < A of g RN
- m [
] L a o ] a
& A B RN o2l SN
L 3 Cm  wm  wm SFf FSEa
Leomo- 000t
E Lioro-  oeal
(7]
4
@
w- 1870~ [-870°€l
Hero-  fara
- L5050~ Fe6ill
L9550~ f-oeg0l
18650~ [966'6
)
LN
Lelo- 18208
(m)}
mn
o
T Lzeel- 9059
i) (39}
- A <
[
a
—
a
o
et Legnl- LS9
m
c
a —_—
c
.m N
.G
e A Leegl- fezee
= NI
N 8 Lezzz- 6802
N tezz-  fensl
\\,,, A .
) Lzasz-  09i0
S
i Fotrz- 10000
? ss7z- |-265°0-
/ Lzvzz- fesl-
m
7
‘ Hot- Hsoz-
T e T
6980~ [-8224-
Leot0-  vos-
190£°0-  |€655-
L6550~ [e9€t-
H1950-  [o088't-
L0~ fevee-
€90~ [-os€0L-
Lzueo- HLoLL-
1
Olu-
= K]
SWéZ- H000°SL-
o
I c
+— o
[=)) —
o n
o Y
T <




